# COVER SHEET

																			Α	2	0	0	1	1	7	7	0	8	
																						(	S.E.C	. Reg	istrati	on No	ο.		
X	U	R	Р	Α	s		I	N	С																				
									<u> </u>				<u> </u>			<u> </u>									<u> </u>		<u> </u>		
													(C		- Full	Name	\												
(Company's Full Name)																													
7	F		С	Α	М	В	R	I	D	G	Е		С	Е	N	Т	R	Е		В	L	D	G						
1	0	8	_	T	0	R	D	E	S	1	L	L	Α.	S	_	S	T			S	Α	L	С	Е	D	0			
V	I	L	L	Α	G	Е		M	<b>A</b>	K	A		ss : N	lo St	C reet (	l City /	Town	Y Prov	vince	١									
_									,	Dusii	1622 /	-uuie	55 . IV	io. 3t	ieei (	Jily /	TOWIT	/ FIU	viiice	,									
	MARK S. GORRICETA													(632) 889-6467															
	Contact Person														Company Telephone Number														
1	1 2 3 1 SEC From 18-A												2nd Monday of May																
Mont	h		Day											F	ORM	1 TYPI	≣		-				Month Day						
	Fisca	l Yea	r																T							Annı	ual Me	eting	
												80	conda	m. Lie	N/A		ιf Λ	pplies	ablo										
		ı		1								36	Conda	пу ш	Jense	гурс	, II A	ррпсс	abie										
M	S	R	D	D																	N/A  Amended Articles Number/Section								
Бері	. ĸeq	uiring	tnis	DOC.																	,							n	
																					Total Amount of Borrowi					owing	vings N/A		
Tota	No.	of Sto	ckho	lders	l																Domestic					<u> </u>	Foreign		
_										То	be ac	comp	lished	by S	SEC F	Persor	nnel c	oncer	rned										
																				•									
				File N	umbe	r									LCU														
										]																			
Document I.D. Cashier																													
								ī																					
	STAMPS																												

## **SECURITIES AND EXCHANGE COMMISSION**

### SEC FORM 18-A

## REPORT BY OWNER OF MORE THAN FIVE PERCENT

Check the appropriate box:
Initial Filing  √ Amendment – FINAL REPORT – BELOW 5%
Item/s amended by the Filing: Item 4
1. Exact Name of Registrant as Specified in its Charter – <b>Xurpas Inc.</b>
<ul> <li>a. 7F Cambridge Centre Building, 108 Tordesillas St., Salcedo Village, Makati City1227</li> <li>Address of Principal Offices</li> <li>Postal Code</li> </ul>
b. SEC Identification Number - <b>A200117708</b> c. (SEC Use Only)  Industry Classification Code
d. BIR Tax Identification Number - 219-934-330
<ol> <li>Eden International Holdings Pte. Ltd.</li> <li>Name of Reporting Person</li> </ol>
a. 24 Raffles Place, 27-01 Clifford Centre, Singapore 048621 Address of Reporting Person Postal Code
b Telephone Number of Reporting Person
<ul> <li>Incorporated in Singapore</li> <li>Citizenship or Place of Organization of Reporting Person</li> </ul>
Nico Jose S. Nolledo

Name, Address and Telephone Number of person authorized to receive notices and communications if reporting person is a partnership, corporation or other legal entity

#### Item 1. Security and Issuer

a. Title of the class of equity securities:b. Issuer Name:Common SharesXurpas Inc.

c. Address of Principal office: 7F Cambridge Centre Building, 108 Tordesillas St.,

**Makati City** 

#### Item 2. Identity and Background

(a) Name: Eden International Holdings Pte. Ltd ("Eden")

(b) Residence of Business Address: 24 Raffles Place, 27-01 Clifford Centre, Singapore

048621

(c) Principal business: Eden International Holdings Pte. Ltd, is a registered

Private Company Limited by Shares in Singapore, primarily engaged in the business of a holding

company;

(d) Whether or not, during the last five years, such person has been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors) and, if so, give the dates, nature of conviction, name and location of court, any penalty imposed, or other disposition of the case; **No.** 

(e) Whether or not, during the last five years, such person was a party to a civil proceeding of a judicial or administrative body of competent jurisdiction, domestic or foreign, and as a result of such proceeding was or is subject to any order, judgment or decree, not subsequently reversed, suspended or vacated, permanently or temporarily enjoining, barring, suspending or otherwise limiting involvement in any type of business, securities, commodities or banking; **No.** 

### Item 3. Purpose of Transaction

The transfer of the securities of the issuer is in accordance with the consolidation of personal investments in Eden pursuant to the estate planning of Mr. Nico Jose S. Nolledo. At present, Mr. Nolledo is the beneficial owner of 90% of Eden, through Wi-Zone International Limited.

There are no plans or proposals which Eden may have which relate to or would result in:

- (a) The acquisition by any person of additional securities of the issuer, or the disposition of securities of the issues
- (b) An extraordinary corporate transaction, such as a merger, reorganization or liquidation, involving the issuer or any of its subsidiaries;
- (c) A sale or transfer of a material amount of assets of the issuer or of any of its subsidiaries;

- (d) Any change in the present board of directors or management of the issuer, including any plans or proposals to change the number or term of directors or to fill any existing vacancies on the board;
- (e) Any material change in the present capitalization or dividend policy of the issuer;
- (f) Any other material change in the issuer's business or corporate structure;
- (g) Changes in the issuer's charter, bylaws or instruments corresponding thereto or other actions which may impede the acquisition of control of the issuer by any person;
- (h) Causing a class of securities of the issuer to be delisted from a securities exchange;
- (i) Any action similar to any of those enumerated above.

#### Item 4. Interest in Securities of the Issuer

(a) Aggregate number of securities to item 1: Percentage of the class of securities:

65,836,763 Xurpas Shares
3.52% of the issued and outstanding capital stock of Xurpas

- (b) Eden International Holdings Pte. Ltd. has the power to vote or to dispose <u>65,836,763</u> common shares (3.52%)
- (c) Transaction history for the past sixty (60) days:

#### Please see attached Annex "A".

- (d) No other person/entity is known to have the right to receive or the power to direct the receipt of dividends from, or other proceeds from the sale of such securities.
- (e) Eden has ceased to be the beneficial owner of more than five (5%) of the class of securities.

  On Feb 19, 2019, Eden's shareholdings is at 3.52% of the issued and outstanding shares of Xurpas Inc.
- Item 5. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

Not Applicable.

Item 6. Material to be Filed as Exhibits

Not Applicable.

#### **SIGNATURE**

After reasonable inquiry and to the best of my knowledge and belief, I certify that the
information set forth in this Report is true, complete and accurate. This report is signed in the City of the City
This Is flew
By: NICO JOSE S. (NOLLEDO DIRECTOR

The original report shall be signed by each person on whose behalf the report is filed or his authorized representative. If the report is signed on behalf of a person by his authorized representative (other than an executive officer or general partner of the filing person), evidence of the representative's authority to sign on behalf of such person shall be filed with the report. The name and title of each person who signs the report shall be typed or printed beneath his signature.

Republic of the Philippines )
PASIG CITY)S.S.

Doc No. <u>209</u>; Page No. <u>43</u>; Book No. <u>1</u>; Series of 2019.



ANNEX "A"											
	CC		INTERNATIONAL F	HOLDINGS PTE. L	TD HOW THE SALE	NO. OF SHARES					
DATE	TOTAL AMOUNT (PHP)	PRICE PER SHARE	NO. OF SHARES	BUY/SELL	WAS EFFECTED	AFTER THE SALE					
BEGINNING BA	ALANCE	SILIKE			WHO ETTECTED	128.930.763					
Feb. 13, 2019	1,870,000	1.87	1,000,000	SELL	EXCHANGE	127,930,763					
Feb. 13, 2019	4,115,320	1.88	2,189,000	SELL	EXCHANGE	125,741,763					
Feb. 13, 2019	567,000	1.89	300,000	SELL	EXCHANGE	125,441,763					
Feb. 13, 2019	1,710,000	1.90	900,000	SELL	EXCHANGE	124,541,763					
Feb. 13, 2019	1,910,000	1.91	1,000,000	SELL	EXCHANGE	123,541,763					
Feb. 13, 2019	576,000	1.92	300,000	SELL	EXCHANGE	123,241,763					
Feb. 13, 2019	497,940	1.93	258,000	SELL	EXCHANGE	122,983,763					
Feb. 13, 2019	975,000	1.95	500,000	SELL	EXCHANGE	122,483,763					
Feb. 14, 2019	4,396,240	1.79	2,456,000	SELL	EXCHANGE	120,027,763					
Feb. 14, 2019	7,200,000	1.80	4,000,000	SELL	EXCHANGE	116,027,763					
Feb. 14, 2019	1,991,000	1.81	1,100,000	SELL	EXCHANGE	114,927,763					
Feb. 14, 2019	3,094,000	1.82	1,700,000	SELL	EXCHANGE	113,227,763					
Feb. 14, 2019 Feb. 14, 2019	1,830,000 1,880,480	1.83	1,000,000 1,022,000	SELL SELL	EXCHANGE EXCHANGE	112,227,763					
Feb. 14, 2019 Feb. 14, 2019	1,880,480	1.84 1.85	300,000	SELL	EXCHANGE	111,205,763 110,905,763					
Feb. 14, 2019	319,410	1.89	169,000	SELL	EXCHANGE	110,763,763					
Feb. 14, 2019 Feb. 14, 2019	570.000	1.90	300,000	SELL	EXCHANGE	110,763,763					
Feb. 14, 2019	779,520	1.92	406,000	SELL	EXCHANGE	110,030,763					
Feb. 14, 2019	1.158.000	1.93	600,000	SELL	EXCHANGE	109,430,763					
Feb. 14, 2019	970,000	1.94	500,000	SELL	EXCHANGE	108,930,763					
Feb. 15, 2019	6,400,000	1.60	4,000,000	SELL	EXCHANGE	104,930,763					
Feb. 15, 2019	1,685,920	1.64	1,028,000	SELL	EXCHANGE	103,902,763					
Feb. 15, 2019	3,300,000	1.65	2,000,000	SELL	EXCHANGE	101,902,763					
Feb. 15, 2019	830,000	1.66	500,000	SELL	EXCHANGE	101,402,763					
Feb. 15, 2019	850,000	1.70	500,000	SELL	EXCHANGE	100,902,763					
Feb. 15, 2019	1,539,000	1.71	900,000	SELL	EXCHANGE	100,002,763					
Feb. 15, 2019	3,243,920	1.72	1,886,000	SELL	EXCHANGE	98,116,763					
Feb. 15, 2019	280,260	1.73	162,000	SELL	EXCHANGE	97,954,763					
Feb. 15, 2019	2,772,000	1.75	1,584,000	SELL	EXCHANGE	96,370,763					
Feb. 15, 2019	1,320,000	1.76	750,000	SELL	EXCHANGE	95,620,763					
Feb. 15, 2019	267,270	1.77	151,000	SELL	EXCHANGE	95,469,763					
Feb. 15, 2019	5,430	1.81	3,000	SELL	EXCHANGE	95,466,763					
Feb. 18, 2019	760,000	1.52	500,000	SELL	EXCHANGE	94,966,763					
Feb. 18, 2019	8,874,000	1.53	5,800,000	SELL SELL	EXCHANGE	89,166,763					
Feb. 18, 2019 Feb. 18, 2019	2,574,800 1,550,000	1.54 1.55	1,672,000 1,000,000	SELL	EXCHANGE EXCHANGE	87,494,763 86,494,763					
Feb. 18, 2019	3,120,000	1.56	2,000,000	SELL	EXCHANGE	84,494,763					
Feb. 18, 2019	747,320	1.57	476,000	SELL	EXCHANGE	84,018,763					
Feb. 18, 2019	2,708,120	1.58	1.714.000	SELL	EXCHANGE	82,304,763					
Feb. 18, 2019	42,930	1.59	27,000	SELL	EXCHANGE	82,277,763					
Feb. 18, 2019	4,584,000	1.60	2,865,000	SELL	EXCHANGE	79,412,763					
Feb. 18, 2019	1,288,000	1.61	800,000	SELL	EXCHANGE	78,612,763					
Feb. 18, 2019	1,385,100	1.62	855,000	SELL	EXCHANGE	77,757,763					
Feb. 18, 2019	227,960	1.64	139,000	SELL	EXCHANGE	77,618,763					
Feb. 19, 2019	1,008,000	1.44	700,000	SELL	EXCHANGE	76,918,763					
Feb. 19, 2019	290,000	1.45	200,000	SELL	EXCHANGE	76,718,763					
Feb. 19, 2019	2,581,280	1.46	1,768,000	SELL	EXCHANGE	74,950,763					
Feb. 19, 2019	2,295,000	1.53	1,500,000	SELL	EXCHANGE	73,450,763					
Feb. 19, 2019	2,926,000	1.54	1,900,000	SELL	EXCHANGE	71,550,763					
Feb. 19, 2019	2,325,000	1.55	1,500,000	SELL	EXCHANGE	70,050,763					
Feb. 19, 2019	1,985,880	1.56	1,273,000	SELL	EXCHANGE	68,777,763					
Feb. 19, 2019	136,590 790,000	1.57	87,000 500,000	SELL SELL	EXCHANGE	68,690,763					
Feb. 19, 2019 Feb. 19, 2019	1,113,000	1.58 1.59	700,000	SELL	EXCHANGE EXCHANGE	68,190,763 67,490,763					
Feb. 19, 2019	1,113,000	1.60	1,200,000	SELL	EXCHANGE	66,290,763					
Feb. 19, 2019	408,940	1.61	254,000	SELL	EXCHANGE	66,036,763					
Feb. 19, 2019	324,000	1.62	200,000	SELL	EXCHANGE	65,836,763					
TOTAL	327,000	1.02	63,094,000	DLLL	LICITINGE	65,836,763					
			-2,02 .,000			00,000,700					
ENDING BALA	NCE	65,836,763	COMMON SHARES	S IN XURPAS INC.							
	AND OUTSTANDING		3.52%								
	<u>,                                    </u>										